Name:                     Summer Assignment for Incoming AP Calculus AB Students
Due the 1st day of school!  Each problem will be worth 1 point and it will be graded on accuracy! NO WORK = NO CREDIT. Show work on a separate sheet, answer in the booklet. If you need additional help you can visit my website: vickerswihimath.weebly.com for tutorial videos. 
Graphing Functions and Transformations
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Finding x and y-intercepts
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Symmetry of Functions (odd/even/neither)[image: ]
[image: ]
[image: ]
Linear Functions
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Finding the Domain of a Function (use a graphing calculator)
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Determine if a relationship represents a Function
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Function Notation
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Evaluating Composition Functions
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image7.tmp
12. Tdentify the type(s) of symmetry: x*y® + 2x%y — 1 = 0,
() Tox-axis (b) To y-axis (¢) To origin
(@ Bothaandb (¢) None of these

13. Identify the type(s) of symmetry: 3x* + xy — 2 = 0.
(@) Tox-axis (b) Toy-axis () To origin
(@) Bothband e (e) No symmetry

2—M—Answer: ¢

14, Tdentify the type(s) of symmetry: y = x* + 3x.
() Tox-axis () Toy-axis (©) To origin
(@) Bothaandb (¢) No symmetry
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17. Determine if y = Xz’i ~ is symmetrical with respect to the x-axis,the y-axis, or the origin.
(a) About the x-axis (b) About the y-axis (c) About the origin
(d) All of these (€) None of these

18. Determine if y = is symmetrical with respect to the x-axis, the y-axis, or the origin.

2-4

(a) About the x-axis " (b) About the y-axis (c) About the origin
(d) All of these (¢) None of these
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1. Find the slope of the line passing through the points (6, 10) and (1, 4).

@ § ® -3 ©
@ -% (&) None of these

2. Find the slope of the line passing through the points (~ 1, 16) and (4,2).

@ i ® -5 ©
Ok (¢) None of these
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7. Find the equation of the line that has a slope of —3 and passes through the point (1, 2).
@ x—4dy-7=0 (b) 3x—dy—11=0 © 3x+dy—11=0
@ 3x+4y+11=0 (e) None of these

8. Find the equation of the vertical line that passes through the point (2, 5).
@ y=2 ® y=5 ©=x=2
@ x=5 (€) None of these
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9. Find the equation of the line that passes through the point (0, 0) and has a slope that is undefined.
@ y=0 (®) x=0 ©x+y=0
@ x=y (¢) None of these ©
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11. Find an equation for the horizontal line that passes through the point (—3, 2).
@ x=2 ®y=2 © x=-3
@ y=-3 (¢) None of these
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15. Find the point that lics on the line determined by the points (1, —2) and (3, 1).
@ (0,0 ® (5.1) © @-6)
@ (5,-3) @© (=2,0)

16. Determine the slope of the line given by the equation 9x — Sy = 11.

[OF] O} ©3
@ -3 © -9
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' 20. Find the equation of the line that passes through the point (1, 3) and is perpendicular to the line
2x+3y +5=0.

(@ x~-2y+3=0 ®) 2x+3y—11=0 ©2+3y-9=0
@ x-2-7=0 (¢) None of these

21. Find the equation of the line that passes through the point (2, —1) and is parallel to the line 2x + 7y = 5.
@ 2x—Ty-11=0 b 2x+Ty+3=0 © 2x+7y—12=0
@ Tx—2-16=0 (¢) None of these
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23. Find an equation for the line passing through the point (4, — 1) and perpendicular to the line 2x — 3y = 3.
@ y=%-1 ® x+2p+2=0 © 2x+3y=10

(@ 3x+2y=10 (e) None of these
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25. Find an equation for the line passing through the point (4, — 1) and parallel to the line 2x — 3y =
@ 2x-3=11 (b) 2x—3y=—5 (@ 3x—2y=-5

@ y=%-1 (¢) None of these
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28. Find the equation of the line through the point (3, 1) and perpendicular to the line through the points
(8,9) and (10, 6).

@ y=-3x-8+9 ®) y=3a-3)+1

©y=3-8+9
@ y=-3-3+1

(e) None of these
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1. Find the domain of the function: y = i

(@) (~o0,00) () (—0,0),(0,00) © (—00,0)
(@ (0,00) (e) None of these

2. Find the domain of the function: f(x) = v/2x + 3.
@ [0.00) ® ©.99) © [-10)

@ (-3,09) (&) None of these
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4. Find the domain of the function: f(x)

@ (~e0d) © (o)
@ (~0.3).(.00) () None of these

5. Find the domain of f(x) = J‘lm
@ (~o0,-3) © [-3.%9 © (-}

@ (—o0,-3), (-}, 00) (€ None of these
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37. Use the vertical line test to determine which of the following graphs does not represent y as a
fanction of x.

(@ ®) ¥

© i @ y

() Bothaandd
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9. In which of the following equations is y a function of x?
(@@ 3y+2x-9=17 (b) 2x%y + x =4y
(d) Neither a nor b (e) None of these

10. In which of the following equations is y a function of x?
(@ 2x+3y—-1=0 (®) ¥ +3y2=17
(d) Bothaandb (¢) Bothaande

(c) Bothaand b

© 22y =17
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13. Given f(x) = 2 = 3x + 4, find f(x + 2) — f(2).
@ ¥ =3x+4 ®) 2+x © **+x—8
@ 2 —3x—4 (€) None of these

14. Given () = |x - 3] = 5, find f(1) — f(5).
@ 0 ®) -4 © 14
@ -14 (e) None of these
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15. Given f(x) = |3x + 1| = 5, find f(x + 1) = f(x). .
(@ 3 ®) -5 © |3 +4] = [3x+ 1] ~ 10
@) |3x+4]| = 3x+ 1] (€) None of these
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19. Findf(x + Ax) forf(¥) =@ —2x=3.
@ P —x—3+Ax (b) 2+ 2x(Ax) + (Ax)? ~ 2x = 24x -3
© @—2x—3+Ax @ s (¢) None of these
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27, Letf(x) = {I_;Zr x<1 . Fina (5
@ -9 ®) -25 © =17
(@ -34 © -1

x* -5,

8. Letf0) = {3x+1

@ -4 ®) -2 © 4
@) 2 © 0

e 2 Find £(1).
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49. Given f(x) = 7x + 2and g(x) = x* = 9, find the product f(x)g(x).
(8) 7% + 252~ 63x - 18 () 72 - 18 . © 22 +7x—7
@ 72 - 61 () None of these

50, Given f(x) = 6x — 12and g(x) = x> — 4, find EL((;;L

s sa:-2) G 6
¥-2 ® % © =26+
6
x+2

@

(@ (e) None of these
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51, Iff(x) = and g(x) = 1 — 2 find f(g(x)).

()

(¢) None of these

52, 16f() = 1 — and gx) = % find f(g3)-

@ x‘—/;z

@ _ﬁ r1-2 (¢) None of these

®

1
©1-7

1
© 1-—;
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54, Givenf(x) = 22 + 1 and g(x) = x = 2, find (f+ g)(x).
@ #-17 ® 22 +x—1 @© 22 -1
@ 22— 8x+9 (¢) Noneof these

55. Given f(x) = 2x® + 1 and g(x) = x + 2, find (f+ g)(x).
@ 2245 T b) 22 +3 © 22 +4x+5
@ 222+ 8 +9 (¢) None of these
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7. Given f(3) = x ~ 2and g(a) = 5 3 find (g )00)-
@ E2L (h)x+3 (c)x"+3;—10
@ x+1 () None of these
x+1
58, 16/() = and g(x) = 5=, find g(#(~2)).
+1 2
()(x ) (b)x+l (°)§
@ ; (¢) None of these.
59, Letf(x) = j and g(x) = 2x + 3. Find the domain of (f » g)(x).
@ x> -} ® x>0 ©x<}?

H
@ x> -3 (¢) None of these
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1. Wentify the graph of the equation: y = | + 7].

(@) ¥ (b) ¥
© I @ ¥

(e) None of these
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2. Identify the graph of the equation: y = v/2 — x.

(@ (®)

@

(&) None of these
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36. Use the graph of y = x?to find a formula for the function y = £(x).

@ f&)=G-22+1 ) f6) = (- 12 +2 © fO) = (x+22+1
@ f&)=x+12-2 (e) None of these
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41. Write an equation for the graph obtained by shifting y = 2x — 5 three units to the left.
@ y=2x-8 ®) y=2x+1 ©y=2x—-11
@ y=2x-2 (e) None of these

42. Describe the transformalion needed o sketch the graph of y = = + 2 using the gaph of /() =
(@) Shift /() two units to the right.
(6) Shift £(x) two units to tho left.
() Shift £(z) two units upward.
(d) Shift f(x) two units downward.
(©) Reflect () about the x-axis.

R
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3. Find the x-intercept(s): 3x? + 2y? + 4xy — 12 = 0.
@ £/6 ®) +2
@ 6 (¢) None of these

4. Find the x-intercept(s): y = 222 — 1.
@ % ® -1

@ /2 (e) None of these

5. Find the x-intercept(s): y = x*(x + 2)(3x — 1).

@ 0,-2,3 ® 0

@ -2.% (¢) There are no x-intercepts.

@© 4

© 0,2,-1
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x+2

9. Find all intercepts: y =

x—=3
® (2.0 ® (-2.0.6:0 GRS
@ (-2.0.(0.-2) (€) None of these
10, Find all intereepts: y = 5.
® 1,0.0.-) ® 6o - @ 20,00

@ (~3,0), (0, ~§) (e) None of these




